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e 2stions i ]
Pl [1ve questions in all, including Question No. VII (Section-C) which
. A . which is

1)

2)

3)

4)

S)

compulsory cli
p y and selecting two questions each Jrom Section A-B
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SECTION-A

a) Describe the m
) ain differences betw
s0 cailed monolithic designs. Givaarzr;gl:rokamel designs for operating systems and the

ssgi:teems v emic de e | s why most moaern general-purpose operating
: example of a real-time O )
multiprocessing OS/architect

b)
S. What is th
b e difference between a multiprogramming and a
(5, 5)

a) Draw a typical
running, waltlngprf?ﬁﬁ;slnsmr diagram. Include the states: being created, ready to run
) g. Label the transitions between the states and t;riefly describe'

b) Given here are the arrivals and burst times for a number of processes:
Process Arrival Time Burst Time
Pl 0 6
P2 2 4
P3 3 2
P4 5 5
P5 8 4

i) Draw a Gantt chart showing a Shortest Job First (SJF) schedule without preemption
and calculate the average waiting time.

i) Draw a Gantt chart showing a SJF schedule with preemption and calculate the average
waiting time. If there are two or more processes with the same shortest remaining

burst time and one is currently running, then do not preempt it. (5, 5)

a) What does thrashing mean in the context of virtual memory? When does iLeccur?
b) This is a string of memory page references: 1,2,3,43,2,1,532 5. Draw tables showing
the frame usage at each memory reference for each of the a) FIFO — first-In-first-out b) LRU
— least recently used page replacement algorithms. Also give the number of pagg f::u:tt:
generated by each algorithm. Assume the system uses pure demand paging and sta

with no pages in real memory. There are three frames of real memory. (4,6)
~ SECTION-B

. : me
a) Some file space allocation methods are suitable for direct acc:ﬁs tﬁ :ca:;c;: ::::h?;;dtlsl:t s
are suitable for sequential access to data in files. Describe a ea

s. Explain why it is not
suitable for sequential access but not su s p

suitable for direct access (5, 5)
b) Briefly describe two ways 0

itable for direct acce

f keeping track of free blockson a disk device.
requests for /O to blocks on cylinders:-

isk queue with tly at 60, find out the total

q
What is disk scheduling? Suppose 2 < f the disk head is curren
100, 175, 50, 120, 120, 20, 150, 75 and 200. !tth' .
disk head movement for the following algon )
:) FCFS
) SSTF
c) LOOK - “@
d) C-SCAN !
p.T.0.



6)

7

a)
b)
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()

Highlight features of Android as Mobile 0S. o
at for deadlock? What is resource ordering and how
What are the four necessary conditions T ankor's Algorithm to avor

does It prevent deadlock happening? Describe Dij s
deadlock by taking an example. )

SECTION-C (Compulsory Question)

What Is a Process Control Block and what is its purpose?

What is busy waiting and why Is It not generally a good thing?

The semaphore's wait and signal operations are defined as indivisible (or atomic)
operations. Why do they have to be Indivisible?

Briefly explain what a system call (or supervisor call) is and give an example.

What Is swap space? (5x2=10)

X=X-X




